Seat No. :

MM-1035

May-2022
B.Com., Sem.-V
CC-305 : Statistics

Time : 2 Hours] [Max. Marks : 50

YAARAL: (1) [ARWI-TAL el USALAL L UL S,
2) [T AR d G sl GR 2L

(3) ([T u-5 s:0v0d 9.

[dewr—1

1. (A) sl AL AL X0, a® 24 e* [QuiAL ys(ad ol 10

A2l Ase 530 :

(i) J (x—4) (x+1) (x +4) dx
9
(ii) J (Bx2+2x+1)dx
4
(B) [ se- led g 7 drl Sl AR 201+ ol 10

A2l Ase 531 :

1
(1) J(x4—4x3+x2—;+ezx+3jdx
r A
.. 12 —x
(i1) J\/}+ P
5

MM-105 1 P.T.O.



2. (A)

(B)

3. (A)

(B)

MM-105

YRR (ARl AL Blecd [dE @uil 24 d-l el oveldl. 245 SlRUzaML
E0AE cll BE[RAML ARRILL 3 251 88l FUAua 3L LG 53l S 8. 518 248
(ot lRUzaMl 50 £6RAA 1A sRAUML 2 24 d Bad 3 RURME 31 el Sl

dl 10
(i)  siunl sl R 3H-AL Hidell 524 AR,

(i) FURre 34l Wi usil 2s1el AT d-Al AL L

(e715=0.2231)

A[RYRITR (AR, AAAL Bz (Al @l 24 del el eviudl. 10
s oy 50 €0l 89, WHL 10 251 tleol WAL 8. d orzauizll 215 sl 2is
B 5 Ao AUHL AU © dl d Usl—

() UL oleot vl A i,

(i) el a2 ool WIHlALOW €1 dell AL 2L

UMVl : 10
() Bowsd ulsaul uaA
(i) U4sHl Rigid

€25 (el 100 2AsH @ (AR1a1ul sl U 8. 24 [daid A2 Hovod 6. A
(FRLsteL E1R1 dHIRL (Rl oveudl :

aRlw 123|567 |9/ 10]11]12

mm'lqwﬂqqg-{IQiWL 8 |12 ] 2 | 2010 | 15| 6 | 20|13 ] 9

AGALCHS A LS AL D2R1AL dgldd QUL 10

ARAAL SlesHL Beuled AHA 5 5L 24 Al 10 (el dalsgs avrud 2y
(5elsHl) ANE 6. AL HUEL Uzl X 244 R AL ERL 24 dHIRL HARL oLl :

3290 | 3180 | 3350 | 3370 | 3280 | 3240 | 3260 | 3410 | 3310 | 3510

R | 360 | 210 50 100 | 50 | 400 | 500 | 200 | 300 | 600

(n=542A,=0.58,D,=0,D,=2.115

n=10 ¥l A, =0.308, D, = 0.0223, D, = 1.777)

2



4. (A) AR UsLAHMAL 10
(i) Gowes v
(i) Ales M
a5 [Rgal Ao+l (2000, 200, 1) HI2
AQL =2% AL LTPD = 3% . BcUlg s, 241 AUles|, AvH WL

(e4=0.0183, e©=0.006737)

(B) sl (eal wted g 7 a-dl GulBidL aveudl. 10

215 [Agl Alov-AL (25000, 100, 4) Hi2 vIHL WHLEL (p') = 0.06 21 2ells(aAl 2deud-L

Al AOQ 1 ATI H(dl. (676 = 0.006737)

[dewat-I1

5. ARl USALAL AL AL 10

(1) f 5 =7 dx = U,
4

) f 3x dx = UL,
2

~ NN N

(3) s Wi (ARt UHIBId (e 2 S dl ddl Heas =

(4) vulad BsdML m = 10, n = 40, r = 5 SR AR ADPPUR [Adrel HE

HRYS =

MM-105 3 P.T.O.



()

(6)
(7)
(8)

)

C-RALE HI2 HERWL =25 ¢ d2l LCL =

ol AIHIUHLGL = 0.04 2 uHerAl ellg AL AL = 0.5 SR dl AOQ =
p-2AUAWHI CL = 0.08, UCL =0.17 d2l LCL =

s [AgLlA Alov-L (1000, 100, 2) W2 % ATI = 550 &, dl AHe-Al 2dlgla-l
AL AR,

35 [Agl QoL (1500, 150, 3) L 22l Aol

(10) 2RUIR 2sHELS WHIHIRAL 2AME] Sl RUR 52U 2AUEAAL BURARL SIAHL AU & 7

MM-105



Seat No. :

MM-1035

May-2022
B.Com., Sem.-V
CC-305 : Statistics
Time : 2 Hours] [Max. Marks : 50

Instructions : (1) All questions in Section — I carry equal marks.
(2) Attempt any two questions in Section — 1.
(3) Question 5 in Section — II is compulsory.

SECTION -1
1. (A) Give the definition of Integration. State the integration of the functions : x", a* and
e*. Find the values of following : 10

(1) J(x—4)(x+l)(x+4)dx
9

(ii) J(3x2+2x+l)dx
4

(B) Explain the meaning of definite integration and its any four characteristics. Find
the values of following : 10

1
(i) J (x4—4x3+x2—;+ezx+3) dx.

7
. 12 —x
(i1) J\/}+ 2.
5

2. (A) Write down the probability mass function of Poisson distribution. Give the
properties of Poisson distribution. In one hospital average 3 percent of the patients
demand special rooms. On a particular day, 3 special rooms were vacant. If 50
patients were admitted in the hospital on that day, find the probabilities that
(i) no patient demanded special room (ii) the demands for special room were not

meet. (e =0.2231) 10
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(B) Write down the probability mass function of hyper geometric distribution and

3. (A)

give the properties of hyper geometric distribution. There are 50 bulbs in a lot and
10% of them are defective bulbs. 5 bulbs are taken one after the other from it, find
the probabilities that (i) none of the bulbs is defective, (ii) at the most 2 bulbs are
defective in them. 10

Explain : 10
(i)  Variations in quality.
(i1)) Theory of runs.

Each sample of 100 items were taken for inspection. Other details are as below.
State your decision by drawing proper control.

Date 1 2 3 5 6 7 9 |10 | 11 | 12
No. of defectiveitems | 8 | 12 | 2 | 20 | 10 | 15| 6 |20 | 13 | O

(B) Give the difference between variable charts and attributes charts. The following
table gives the life of electric bulb (in hours). Here 10 samples each of size 5 are
drawn during the production. Draw X and R charts from this information and
give your opinion. 10

X | 3290 | 3180 | 3350 | 3370 | 3280 | 3240 | 3260 | 3410 | 3310 | 3510

R 360 | 210 50 100 50 400 | 500 | 200 | 300 | 600
(Forn=5, A,=0.58, D;=0,D,=2.115
Forn=10, A, =0.308, D, =0.0223, D, = 1.777)

4.  (A) Explain the following terms : 10

(i)  Producer’s risk
(i1)) Consumer’s risk
For a single sampling plan (2000, 200, 1)
Find producer’s risk and consumer’s risk when AQL = 2% and LTPD = 3%
(€4=10.0183, €©=0.006737).

(B) What is acceptance sampling ? Explain its importance. Find the values of
probability of acceptance, AOQ and ATI when proportion defective (p') = 0.06
from a single sampling plan (25000, 100, 4) (¢*® = 0.006737). 10
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SECTION - 11

Answer the questions given below : 10

f X~ Tdx= .

The S.D. of Poisson distribution is 2, then its mean =

In usual notations m = 10, n = 40, r = 5, then mean = of hypergeometric
distribution.

In a C-chart central line is at 25.
~ LCL=

If the proportion defective of a lot is 0.04 and probability of acceptance is 0.5 the
value of AOQ =

In p-chart CL = 0.08, UCL =0.17 so LCL =

For a single sampling plan (1000, 100, 2) the value of ATI = 550, the probability
of acceptance of the lot is =

Explain the single sampling plan (1500, 150, 3).

(10) Which chart is to be considered for the number of defective per unit ?
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